
2019(Odd) 
25604OT6029OT6029

Time : 4Hrs. Sem - VI- Mech. Engg.   
Drg. & Design

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer 1 question from Group B, question 

carries 20 marks.

Answer 1 question from Group C, question 

carries 40 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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P.T.O

Old Syllabus                 GROUP  - C

Answer One Questions.
40 x 1 = 40

Details of connecting rod for on I.C. engine are 

shown in fig.- 1. Assembling the parts draw the 

following orthographic views

(1) Elevation (Front view) - Right half in section

(2) Top View (Plan)

(3) Give a bill of materilas

7.
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Fig - 01 Connecting Rod For an I. C. engine
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

A screw is specified by its:

(a) Major diameter

(b) Minor diameter

(c) Pitch diameter

(d) Pitch

................. is the main stress acting on bolts 

of a coupling.

(a) Tensile stress

(b) Compressive stress

(c) Shear stress

(d) None of the above
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(iii)

(iv)

(iii)

(ii)

 joining two shafts intersecting at small angle.
(a) Leather link
(b) Hookes joint
(c) Oldham
(d) Slip

(a) Square cross section
(b) Rectangle cross section
(c) Round cross section
(d) Elliptical cross section
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3

of 110 KN to a height of 0.70 meter. Allowable 

stresses for screw are :

2
Tensile stress = 120 N/mm

2
Shear stress = 70 N/mm

2
Crushing stress = 130 N/mm

and for the nut are:

2
Tensile stress = 60 N/mm

2
Shear stress = 50 N/mm

2
Crushing stress = 70 N/mm

2Bearing pressure between nut and  screw is 15 N/mm

Coefficient of friction = 0.15.

Draw free hand sketch of designed screw jack.

3.
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(iv)

(v)

(v)

(vi)

(a) Shear force only

(b) Tensile force only

(c) Shear, tensile and compressive force

(d) Twisting only

material is:

(a) High elastic limit

(b) High deflection value

(c) Resistance to fatigue & shock

(d) All the above
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P.T.O

Answer any One of the following 20 x 1 = 20

Design a cast iron protective type flange coupling 

to transmit 16 KW at 950 rpm from the electric 

motor to a compressor. The service factor may be 

assumed as 1.35. The following permissible 

stresses may be used.

Shear stress for shaft, bolt and key materials 

= 40MPa

Crushing stress for bolt and key = 60 MPa

Shear stress for cast iron = 8 MPa

Give neat sketch of the coupling.
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(vii)

(vii)

(viii)

(vi)(xix)

(xx)

(xx)

A knuckle joint is used to faster two

(a) Circular rods

(b) Square rods

(c) Rectangular rods

(d) Octagonal rods

(a) Positive action clutch

(b) Cone clutch 

(c) Disc clutch

(d) Friction clutch
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and the.

(a) Camshaft

(b) Rocker arm

(c) Piston

(d) None of the above

OT6029OT6029



611 25604

(viii)

(ix)

(ix)

circle to the tip of the tooth.
(a) Module
(b) Addendum
(c) Dedendum
(d) Cordal thickness

power between shafts, laying in the same 
plane, where axes would intersect if produced.
(a) Bevel
(b) Spur
(c) Both (a) and (b)
(d) None of the above

on one side only.
(a) Uniform
(b) Tapering
(c) Both (a) and (b)
(d) None of the above

the axis of the shaft.
(a) Parallel
(b) Perpendicular
(c) Inclined
(d) None of the above
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Double cover butt joint may fail in ..............

(a) Single shear

(b) Double shear

(c) Tensile

(d) Compression

(a) Longer job

(b) Very short job

(c) Heavy job

(d) None of the above

Plummer or pedestal bearings are used for 

higher speed and ................. shafts

(a) Small size

(b) Large size

(c) Both (a) and (b)

(d) None of the above

distance of the lowest point of the follower 

from axis of rotation of the cam and .............. 

radius is called the lift of the follower.

(a) Least

(b) Largest

(c) Mean

(d) None of the above

(xi)

(xi)

(xii)

(x)
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A clutch is designed to transmit maximum 

torque which is ................. maximum engine 

torque.

(a) Equal to the

(b) 80 percent of the

(c) 150 percent of the

(d) 100 percent of the

Jig is used to ...................

(a) Hold the job

(b) Hold the tool

(c) Guide the tool

(d) Both (a) and (c)

compared to base metal is ...............

(a) Less

(b) Same

(c) More

(d) None of the above

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)
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